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. At 22 H| 97,009,113
olEyg 71,416,990
20 61,298,230
N 5,014,820
230 4,445,740
=2 S MY 58,200
2+ Akt 600,000 |E23| &HH &
A& HI 8 6,398,970
Asdxz 4,365,960
A2zel| 1,955,450
& CZEH 77,560
JIEHHI 19,193,153
A2 EEH 48,870
Ol mEH| 1,328,750 |&AI X EE3| WEH| X[ &
3|o1| 642,700
S NI 3,469,070 |ZEXHE MBX| EAF S XAEF Q4
SAH| 2,284,165 |=At T2 A LS A|AH”H O|BE
28| 191,571
N = 192,565
=94 22,000
8 AbH] 9,702,992 |SHUZE Al=ZMO, 104 EH EH=| &
=2 S H & 362,120 |HAL =H| 2= W O3 H|&f
C AT 12,000
EEa i B 464,500
R0 177,850
3222 294,000 |CHdE +2
. AFA 0|2 (2 4t) 16,652,570
082 27,648,249




